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Total No. of Questions : 27].  [Total No. of Printed Pages: 19

Time allowed : 3 hours
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SS
2034

ANNUAL EXAMIN ATION SYSTEM

ELEMEN’I S OF B OK KEEPIN G
 (Business and Commerce Group) :

. (Taxation Practices Trade)
Paper-1 .

(Panjabi, Hindi and English Versions)

(i_);

(ii)

-190—SS—600

(Evening Session) |
~ Maximum marks : 60
gl Ggvusdt € ewley U8 3 femr
I3/QUg. dF TE wS &9 ferr I5/Aud a9F
19079 gg7 ad AT I
wv#m—gﬁw%mngﬁwm/wm
T @ v v BT 190 oy g
You must write the subject codé/paper code
190 in the box provided on the title page of
your answer-book. - |

é’s'a'us’a?z?@a?ﬁsn@ﬂéﬁva?éua?%

@H%UETE?EEH?%H.&’O S g5 w3 3la

1t queva ags |
W-Wéﬁs‘fsa%g@ﬁwré@él%ﬁﬁ
&g afed 30 g&fé’wwé?m#?‘/
Make sure that the answer-book contams
30 pages (including title page) and are proper ly
Serlaled as soon as you receive it. .
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(iii)

(iv)

| ger-u T A (-1, ST e Se-100) 7 Ser

(v)

(vi)

g mEls 3 &g T ode !
a1 7 goT-dem 1 810 g% 1-1 of% & &1

- In Part-I Question 29 11010 are of 1 mark

190-SS

(2) ‘
E5Uset &9 wat deT/l8 g3 I gmiE I8
A3 T yEe/yFEST T WBEE st i3
Hear | .
gere- g 3 @t 612 T g/l % WA &
T 597,/ T FAHT Tl AT T |

Question/s attempted after leaving blank page/s
in the answer-book would not be evaluated.

yrsEg s e (@1, 31173 g1
&g Sfmr 3 |

MM&M:.Q: paper is divided into three parts i.e
(Part-I, Part-II and Part-1II).

J5 yAs € Wi Gre mond 158 95 |
g g9 B 9% GaF @ R Y 8l

Marks allotted to each question are indicated
against it. ) .
a1 &9 yrs 899 1 3710 39 fEafea :
& g5 w3 A9 YRS Agdt g5 | fegst v §39

m&ﬁﬂ%ﬁw\ﬁﬁ%«@ﬂ@m%ﬂ@wﬂ“
g _

each and all questions are compulsory. Answer. e
of these questions should not exceed more than
one line. : :

(viii)

(3)

~

-1 7 797 wear 11 & 22 7% 4-4 o7y 3 FT
12 7997 &1 57 & Rl 8 75t & oy e gres
&1 &7 & Frell oft 97 @7 I 0% O @ e 7 8
In Part-II Question No. 11 to 22 are total
12 questions of 4 marks each, out of which
8 questions are compulsory to attempt. Answer
should be clear and to the point. The answer of
each question should not be more than one
page. S .
SO B9 YA 899 23 3 27 396 Wt
2Rl 3 Fg T IR )

- -ILL 7 797 & 23 @27 7% 6 o 3 &) 5

& Rl ot i 79T T go wre o=t F RiRTT) s
FUT &l 9o & o 7 &y
In Part-III Question No. 23 to 27 are of 6 marks.

- Give answer of any three questions in clear
- words and to the point. The answer of these

questions should not be more than two pages.
a1
-1
Part-1

1 i sowe RS iy R fardt et 3 7 1
W Ja9e ® R ow # Rerd ol @ 2 1

‘Land’ is shown on which side of trial balance? 1

190-SS
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‘Bank reconciliation statement is ?omm._.ma U% bank’.

is true or false ? 1

3. gﬂ%iﬂ@mﬁ@m@%@@. 1
e & g T g T ST AT ;

1

- Give an omeEo of error of principle.

Mmﬂm@w%mlawwdn_
4. Eamm%ﬁ&m )

mﬂ%nﬂmﬂﬁwﬂ%%@%mmmﬂ%_. 1

Mention any one basic meoH. affecting depreciation.

5. m@mﬂ:ﬁmﬂmﬁﬁuﬂ_ww
%ﬁﬁm@mﬁ%w_ﬂwﬂ

| 6. nm@@@auw%wmdmm%@%mqﬁ@wv
| mﬁ%@mﬂ&mmﬂﬁﬂm@ﬂm@wﬂ

To which account gross profit is transferred ? .

1
1
1
 Who is drawer in bills of mxormzmo 7?7 . l
1
1
1

naﬂmm%%w%mmdﬂ@@wﬂ , g

i @t & ﬁﬁﬂ%wmﬁ@ﬂwﬂmﬂ@gﬂﬂ%,

fawe?

\

What is the accounting treatment for maoﬁ»a |

; @x@gmom in final accounts ? _ Ag

Hmclmm.

1.

(5)
WIHES w3 ¥IE w3 ¥ e v g ot Wt S
&g ¥ on | 1
1 wd 7 @ B e g ¥ i I O B8 @ w2
e | | 1

Name any one item that appears on the debit side of
income and expenditure Account. , 1

g ot wx ' 3:2:1 € naus €9 AidTg I% |
0 wan 29 fgefeg Jvr 3 | a2 &9 waus Uzt

0 | o1

T, &%%ufwﬁ%amm@ﬂw_%ﬂwﬁﬁﬁ
I 2 | AT | U S HIeTT | 1
A, w and C are partners in 3:2:1 ratio. B retires from

the firm. Find out the new profit ratio. A |
maret Ot w3 ot 3 ? : 1

 eEEme¥? 1

11.

What is fixed omvwm& account ? 1

B L | |
HARI-11
- Part-II
IJUS ot T ? Wn.@%%ﬂ%mw_
: Lo 1+3=4

e S 7 o RN o e Bt 143=4

What is trial ;cm_mcom 2 Discuss its features. 1+3=4

chlmm . [Turn over
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(6)

12, & fire 292 @ 3= w3 G T EIST T |
, | A

Mﬂﬂﬁﬂﬂﬂ%%ﬁ%ﬂdﬂm&ﬁ%ﬂﬂﬂd_h .

and objective of bank reconciliation
4

Discuss the need

statement.

13. giﬂ%ﬁ@ﬁﬂm@mm&ﬂﬁ@@m‘mﬂm@ :

(i) qwﬁ:w%omcwmqéﬁi%wﬂiwﬁmq
. ydte eurt =t 9 wew 99 fesT !

(ii) Soqmcw%,@qmm%m%mdm%mdmmﬂ_

3T |

(iii) moo%%%@%%@r@aﬁ

&g 3fge it Tt |
e<vwoomcw%ﬂ§£c%m%mdﬁmm
20 gug Ft womw di3 9E | 4

(i) & @HF500%. ﬁﬁsﬁ@a%ﬁﬁﬂq& :

& & oot R

(i) 1,200 %. waﬁﬁﬁmﬂm@mﬂg:ﬂ_ .
(iii) 500 %. &d&%ﬂﬂdﬁwﬂ@ﬁ%@mwﬂ@mwﬁm .

Ream T

(iv) 200 %. %ﬂﬁwﬂaﬂm@mﬂamom ﬁm&. ]
| | | 4

~ 190-SS

14.

(7)

Pass journal entries for rectification of the following
errors :

(i) Radhey Sham returned goods worth Rs. 500 was
entered in the Purchase return book. |

(i) A credit purchase of Rs. 1,200 was passed
through the Sales day book.

(iii) Salary of Rs. 500 paid to clerk has been debited

to his @Qmopm_. account.

(iv) Only Rs. 20 were recorded in Bills »mom@m@_n

book instead of Rs. 200. 4
gﬂd%ﬁ#ﬂﬁﬂm@r@wﬂ@gm@_
4

g%nﬂ@dﬁ%m@ﬂmiﬁ%ﬁﬂf 4

. U_mocmm the basic factors mmmnoszm depreciation.

15.

4

Hﬂym%moiwmiwﬁzwaooomcw
@rﬂ%%@%@ﬁ%:WNﬁwm%

fams fnr froa @R Fa o | aw 3 o s
_.nwﬂ%wgmw%%_rwnwﬁuicww%m

A%mgﬁﬂ%_mﬁ.ﬁgm,@%@m

e 3= foor | s < fiere udt 9 & Bt @
- fam = fsareg T fomr w3 &7 3 80 uE fawdt

ygg W i3 |

i h
190-SS .

[Turn over
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(8)
1 Sl 2014 1 < 3 9 A 6,000 B A S e
g%»ﬁ@wﬁ&%ﬂﬁ@ﬂ%aﬁw%g_
T X T R g @ i | G A R o
AR AT Y g e | T A 7€ (9 5,940 % ¥ g
aﬁ_mm%%%%%aaﬂwﬂﬂﬁﬂ.@ﬁ
AR §5 3 80 . FreE = o Bl
T S A ) R ¥ onasa e st @i |
. 4
-On 1st January 2014 Ram sold goods to m:m,B for
Rs. 6,000 for which he drew a bill on Sham for two
months, who duly accepted the same. Ram mbmoamm
the bill to Suresh. Suresh endorsed it to his creditor .
Ramesh. Ramesh discounted the bill for Rs. 5,940.
On the a&m of BmEaQ,, the bill was dishonoured m,za_
bank paid noting orﬁmmm_ mB_oEE:m to Rs. 80.
Show' the necessary Journal entries ws the books of

Ram and Ramesh. _ 4
_Ha..%aﬁ@mmﬂammw%%ﬁm_
: o | | . 4
e an A - @R ¥ 6 AR o qae | 4

Give any four differences between Trading account
and Profit and loss account. A 4

Ec.nmm_ b . [See 9th page L

(9)

17. mﬂmw?éﬂiwmm%dmwaimmm%yaﬂm

| 18.

eeaw a3 | 1

M:mmﬂﬂa%%ﬂwawﬂnmﬂ%ﬁg
!
| 4

Pass adjusting journal entries for Interest on capital
and depreciation on Furniture. 4

fors mosT 2 31 wew 2013 § w3n 9= =B wm

@ JaH &t s 99 4

| o -

A% 2012-13 Yo $2 & yus gan | 45,200
31 W, 85%@@%%.&:_ 3,500
31 W9, 2012 & Umalt yuz g |- 4,200
31 W9E, 2013 & 92 € mafenr gan | 3,300
31 Hae, 2013 § Umdft Yuz der | | 2,800
= gaem § 31 9™, 2013 & M| o aw 9w 3

fiL -=g w9 A dfee B 9 al @ @ T

i : . ‘ _ 4

af 2012-13 SRR A @AW - 45,200
1 31 =, 2012 @ =R @ aF@ AR 3,500
31 O, 2012 H == # 0w o< AR 4,200
31 @, 2013 @ == i @ W 3,300
31 =, 2013 H == N A A< AT 2,800

190-SS : 5 ‘ [Turn over
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19.

(10)

Calculate the amount of subscription to be creditieq

in income and expenditure account for the year endeq

on 31st March, 2013. - 4
Rs.

Subscription received during the year

2012-13° ] 45,200

mccmom@mos outstanding on

31 March, 2012 s 3,500

m:cmom@moc received in advance . _

31 March, 2012 C 4200

Subscription outstanding on

31 March, 2013 , 3,300

Subscription received in advance

31 March, 2013 _ 2,800

. 4
et R S o Gt s e e el

o

, Give any four differences between fixed owﬁ:me

account and fluctuating capital account. 4

190-SS

20.

21.

. 22.

190-SS

“What do you mean by partnership deed ? Discuss

(11)

&g »uds 2013 $ waH W3 =t IHIT 60,000
JuB M3 20,000 B € U BIr ¥ Y § wIwg
&3 98 WEw U5 | HE Vo aEEE T 20,000
e T Jfenr | Aidedl e &9 23 a9 7 Ut
gug 10% wEeT form ¥ IR C g
w e 2013 @ @G a@ a ¥ 60,000 5. AR
20,000 %. Goft &1 BT W1 I AT died g HPa & |
& AR @R F 20,000 F. WA G | SR 7 s Fremforet
Hifm 7@ gt W 10% affs ot Raraen @ - 4
X and Y. are partners sharing profits equally with
capital of Rs. 60,000 and Rs. 20,000 respectively as

“on Ist April 2013. During the year business earned a

profit of Rs. 20,000. Distribute the profit between
partners when interest on capital is allowed @ 10%

p-a. - 4
meﬂ_.mﬂmmﬂ@ngmmam@_ 4
Rt & e w1 WA § ol A | 4
Explain in brief the duties of partners. 4
Hﬂ@mﬂ@ﬂ%mﬁ%%@wﬁm@%
g wg Je @@ fownt = Tdee T | 4
TR € & oo N SR ¥ 7 gad) argared 7

A i P @1 qui B | 4
the

rules applicable in its absence.

[Turn over
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23. fons weadt € WU9G 3

190-SS*

(12)
grar-I11
rT-T11
Part-111
31 =AE8 2013 § wd
fiizre e 29T W€ 6

(i) wmmm%:%mmwda_,. 37,500
C&@MH%%&dmmloﬁrwmﬂdﬂ g
f&g 3fge oot I | 5,600
(iii) 9% ¥ &9 Wy FOTE UT W .
39 wofge &t JT 1,500
(v) sroF 3 iR 73 &7 w3 e wmg
 gger 3| 16,070
V) %gﬁﬁﬂﬁm@:md .
firdt &=t | 1,500
(vi) 9 ¥g9T JaF wt &9 won &t b
Sfewrr | 150
ﬂﬂ%ﬂaw@wﬂﬂ&mﬁﬂwo;%mﬁﬁﬁ
fereeT Sid 6
(i) g 98 & AR I T 37,500
(i) =% S 64 Ty o W |
- e T gom : 5,600 |
(iii) wﬁwﬂﬂﬂﬂyﬂ@a&ﬁmﬂ w
Biee T g _ 1,500

(iv) m@w%wﬂwwﬂgmﬁﬁﬂ@_ 16,070

(v) o i @ orred 3% ¥ 6@ et @)
(vi) 9% = Jbs o ¥ oot 7 g

1,500

150

24,

(13)

Prepare a Bank reconciliation statement from the
following information as on 31 December, 2013 : 6 -

(i) Bank Balance as per Cash Book. 37,500
(ii) Cheques issued but not debited
ifi the*bank statement / 5,600
(iii) Cheques deposited in to
bank but not yet collected. 1,500
- (iv) Direct deposited by customer in
our bank account. 16,070

(v) Direct payment by bank for insurance
~ premium | 1,500
(vi) Bank charges not entered in cash Book. 150

st e fafies 3 1 wds 2011 § fw W

- MHiSdT 72,000 guE @9 udiet iR @Rt WoHs M3

fee gge@e 3 8,000 ¥aw i3 | 31 Wag 2013 &

feg HHtsdt 60,000 quE e @9 RSt w3 e 99

HHisdt 1,00,000 gug & e st § udie sEt |
Wzt T ot 5% 10% e furee 8T 98
Helsat ¥t A 2011 3° 2013 39 €€ | U3 I9
7S 31 v § ¥9€ i3 #ie I | 6

T ¥ RifRe ¥ 1 o 2011 A w6 O A

190-SS

72,000 5. ¥ i@ iR e T o FEfeT M
- 8,000 %. g Bl 31 W 2013 5. H FE T
60,000 5. § 39 @ ok wH o mifd o Ry A
1,00,000 &. & @hd | T g TR &R 10% s &
%ﬂ%ﬁg@aﬂwe;g:ﬂﬁ_ﬂ_@a

nﬂiﬁﬂdﬂa#ﬂﬂﬂ@w. 6
~ [Turn over
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(14) (15)
On 1st April 2011, Ganpati paint Itd. purchased a _ WET ST g 600
" second hand machinery for Rs. 72,000 and spent Hrftst 8,000
Rs. 8,000 on its repair and installation. On 31st March ydfte & e 800
2013 the machinery was disposed off for a sum of , Jg fog 393 3.400
Rs. 60,000 and another machinery was purchased for 2an w3 fagtenr 3,000
Wm.,roo,ooo..os the same date. Show the machinery - _ - wEgE 1,900
_monoE: charging depreciation @ 10% p.a. on written . _ AHGES - .
down method for the year 2011 to 2013. Accounts are |- (i) M3 AT 12,000 guE |
closed on 31st December each year. : 6 e (ii) »ET I35 Wd TeIdt a9 200 B, agdt
00 Qug | :
25. Ht As T wisnt & fons wEadt 37 31 H9E 2014 B acwn@(i«@%%ﬁmo@a_
% ¥3H IT T@ WS T WD UE, TY TE HI (iv) WHlsdt 3 furee 10% Baret 72 | 24242=6
w2 gn f=t T mfeht feege v @ | L D i B e o @ 31 90 2014 B a8
e o o < |
3fie adfse | M (5) T (5)
Hg = AER 12,000 3 42,000 | M AR
fovras 25,000 ydte Turt 800 qRPsE ek 12,000 Fea 42,000
- zwd 4,000 fenmT 1,300 O : 25,000 %7 et 800
St 21,000 G+t 32,000 IR 4,000 = 1,300
Efi0) . 4200 BT 14,900 } T 21,000 g 32,000
. fodt 22 T e - \gg Tt s . | ECE| | 4,200 FFER 14,900
29 <TUH 2,000 & s T _ 800
gJated . 3,000 _ | fowpar ATl - 2,000
Tesdt W 300 . AL 3,000))
3 : ‘ AR TR g 2 300
st . 600 L  d 600
FAedt ¥ad 400 & 180-SS [Turn over
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(16) (17)
Ry Tm 400 Wages 600
T S hiftam oo ‘ - Travelling expenses 400
ERIETE , 8,000 Fi X
ire Insurance Premium 600
Y FH LT - 800 .
. 3400 Machinery 8,000
fprr qer ﬂﬂ : | 3,000 , Carriage on purchase 800
STET © 1,900 Cash in hand - 3,400
AN : Rent and taxes 3,000
(i) o<W =R 12,000 .| Drawings - 1,900
(i) < TR @@ 200 5. 79 Forgd 300 5. | _ Adjustments :
(ili) 9 % fo gdewt 150 5. , (i) Closing stock Rs. 12,000.
(iv) 50 9 &0 10% wmr | .M+M+MH@ (if) Office expenses Rs. 200 and wages Rs. 300 are
Prepare Qma.m:m account, profit and loss account for 13  outstanding, .
the year ending m.LmH March, mo?.q mzﬁ a c&m,:ow sheet (iii) Prepaid insurance Rs. 150.
on Em.; date from the following information of . (iv) Charge depreciation on Machinery at 10%.
Mr. Jain’s accounts. - : _ A
| , . 4 2+2+2=6
Amount (Rs. Amount (Rs. . -
Debit 55 Qoa:_ At (Rs.) 26. fogt '3 =B wew ot 95 ? YuFt w3 AT w3
Opening stock 12,000 Sal 42,000 | ¢ R M o w
< s es N s . ;
wm.E. & 25.000 Purchase " uFEt {69 gmasT Uer § ? 1+5=6
uilding , retums 8 ; A .
; _ A WIS A ? R O S @ B o e
Debtors . 4,000 Interest - 1,300 ¥ i O 2 R B9 A qerdt F @ Tear 2 7
. m_a_mu: e !
Purchases 21,000 Capital 32,000 T . . 1+5=6
Salaries 4,200 Creditors 14,900 . - .
Discount allowed = 800 _ : . What are ‘non profit organisations’? What steps are
Sales H@gm. 2,000 required for converting receipt and payment account
Farniture: 3,000 in to income and expenditure account ? 1+5=6
Office expenses 300 $ ey N
190-SS " |

._HMOO 17th page chlmm . ‘, | . _”.H,CHD over -
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(18) o _ .
27. Jws |
%W@E@mmwmmicwmmos MUST qdgry €4 |
Hg 31
. | . a@ﬁwo:%mg_ﬂ%m@ﬂwwﬂﬂ%m%&o 4
a4 wa.mm
BIE Uit (quR) [sreeret Usft (qup)) i I T T T G 3 R w
! e — el S 3@ oy A ar
» | RIS _ﬂmmm S IroY=S Eﬁr@}’ 6 W
f 11 »ids P ~ On 1st April, 2012 Gol i :
{ L 40,000l60 = —iEN . pril, old and Silver started their
] 1 wswht 2010 | T _ business.
o T —t——— 10,000{16,000 ] il . _
_ . 2012 50,000 ctuiedll - Capital introduced | Drawings
/ ’ J ) 3
1 ™3393, 2012 | 30000 ———F (Rs.) (Rs.) ,
Gold | Silver | Gold |Silver i
1 April, 2012 - | 40,000 {60,000
1 July, 2012 10,000 {16,000
1 September, 2012 20,000
1 October, 2012 | 30,000 v
1 February, 2013 12,000 ”
e _ 6 31 March, 2013 10,000
: mmﬁ. . , 3 ;
; _ﬂaln:_. 1 o\ 2012 F ey AR & Ry | 3 . During the year ending on 31st March 2013, the
: ._ i mmw Amv STEXT qu Aav business earned a net profit of Rs. 50,480. Show how 4
‘ v 4 B A . . . : .
¥ e EEH e % . the partners should divide this amount on the basis of
_,_ 1 ol 2012 |
b T g 40,000/60,000- . cffective capital employed. 6 v
- _ \ ) . .
et | : , 10,000 16.0
( [ ’ 00 .
_ , 1 ’
| . ﬂdﬂ.ﬂﬂ .2012 MO,OOO I
N E ol T B -
.N o owEd, 2013 | : 12,000
6 31, 7 2013 | | — ,

ob
-

Scanned by CamScanner



